do/dM (fb/GeV)

Ratio to ATLAS

=
o

=

1071

107

[EEY

0.5

13000 GeV pp
S B B B I

4-Ie;ptqn

N L L L L L L B ]2
— — C
- M(4l) (atlas2021-4l) EE
: 1=
(o)}
B 1
| N
— Jdo
— —
_ m 1
u Jes
B @
i >
_ ¥ e
- WOk =
L *'A\ —
IR 7
- (J: ’1 ‘(;(% ] .
- ‘5." = 18
— Q 0 <t
= ¢ e =D
- 4 N 1
| <
B ATLAS >%
=/ —&— Pythia 8.308 default =k
FA Pythia 8.308 tune-1 . <
~ Pythia 8.308 tune-2c 1<
B Pythia 8.308 tune-2m = 18
I I )
= 30
— N
- (@]
I R T B B | P I R R | P I R R | P I R R 5 =
: T T T T | T T T T | T T T T | T T T T |:
— =2
B A _|
| E —
| 1
— | ﬁﬁ /'\ 0.5
|
’ 7‘ N Lo Lo |
0 500 1000 1500 2000

M(4l) (GeV)



	Contents
	Page 1


